RO

I~ T N—T

£ H = 1A (KTC)

[

AIBERE BRI/ NP AEA —T U HERORS

S44E3H 19
HE [ T RAK B HiE

S~ 7 N—"7
i (F#)

T H 3k BB (A=A /)VTC)

+ & B Ju BB (EiEr T Ya=7)

B A % (F—2L15)

I~ N—T

INFARR AT IR
1~ N—TF
B B2k R (M)
201 = i M GeEZD)
L /AN A (F—LE)
INFRELLA LTIV
1~ N—7F
B (EANT S (B>0d)
A L5 (R < A (A=A /LTC)
L Mo B = (M)

s n = & (F#)
o I T T (F#)
Mo R (F#)

O RE K (KTC)
S~6N 7 —T

7\ NI S (KTC)

+ m B 4 (M« TOVRT2)

mo3E B E (M%)

KIER T (HERE S KI57 77| iR/ 77 Va=T | F— L)

SHELZRART (KTC)
KPPIET (B0 &, FIH)
s HmEH (H-MOZ72)
ME T (A~ A/LTC)



INFERAL TN (TR —T)

KLULRA NI — L~y T

TR AL/ NFEA —T U HERR S

SFN44E3H 19 R

3 [] 7 R A

MF 2V (a— D) m VR A

sN—h 8~9 22—}
4 i F—24 | K b | BEEE | R g | e Emhum| w0 E | B & BEm % | B[ IEAL
iy #E AL 3} (F—AE) ok 2-0 0-2 2-0 2-0 2-0 4-1 ] 2
EH EMH (KTO) 0-2 kK 0-2 2-0 2-0 2-0 32| 3
2R iR (M) 2-0 2-0 k% 2-0 2-0 2-0 50 | 1
o CERZZTH oo 0-2 0-2 st 2-0 1-2 14| 5
w ¥ E MeTORR) 0-2 0-2 0-2 0-2 k% 1-2 05| 6
[ B (M) 0-2 0-2 0-2 2-1 2-1 kK 2-3 | 4
R OH W (F9%h) skokok #E | -
73— 10~11 =—}
I F—L4 | A% BEH | S0 | TE B P RER [ B s BREO B EE) MEA | B | NENL
G B CKBr77)| s 0-2 2-0 2-0 2-0 2-0 2-0 5-1 | 2
= m (M) 2-0 Kokk 1-2 2-0 2-0 2-0 2-0 5-1 | 1
TH # L ~arTo)| 02 2-1 k% 2-0 2-1 2-0 2-0 5-1 | 3
I #E R (KTC) 0-2 0-2 0-2 *okk 0-2 0-2 2-0 15| 6
BRI wie (F—LE) 0-2 0-2 1-2 2-0 k% 2-0 2-0 33| 4
i o (M) 0-2 0-2 0-2 2-0 0-2 *okk 2-0 2-4 | 5
g e A TERZT 0o 0-2 0-2 0-2 0-2 0-2 wx | 06| 7

:[7%/\"—1\]@176\ ©@2-5, @34, @2-7, ®3-6, ©®4-5, D1-3, ®4-7, @5-6, 02-4, AD1-5, @6-7, B3-5, @W2-6, BB1-7,
1©4-6, @37, @®1-2, 95-7, @14, @2-3



TR WAL NFEA —T U HERR S

S4FE3H19H
ST o7 RAR T A
INEEL L I NAFRI=Y) s b — e T KT mr v (@R T e T0REA
A /3—=h 13~14 23—k
4w F—DL4 | AR R ACH | O B3| AREE S | mm AR | B PEE Kokck SRS | MEAE
sk DAZe M TORE)| ok 2-0 2-0 2-0 2-0 4-0 | 1
2 [ m KAH (PR otk M| -
IR H X (b0b) 0-2 sokk 2-0 2-0 2-0 31| 2
4| % EE (F—2E) 2-0 0-2 ok 2-1 2-0 311 3
5 M H A (R 0-2 0-2 1-2 k% 2-0 1-3 | 4
6 | IR M IE (A~ALTO|  0-2 0-2 0-2 0-2 ook 0-4| 5
B 8=k 15~16 23—k
4 il F—L4 | IR B | BOR ELE | BIg ER | AL fiT | R B4 | mhE ESR Hokok JESHEC | MEAE
L[ B B RYALTCO)| sk 2-0 2-1 2-0 2-0 2-1 50 | 1
2 | kA #EFEFE  (KTC) 0-2 k% 0-2 1-2 0-2 0-2 05| 6
3| W fEF (M) 1-2 2-0 k% 2-0 2-0 2-0 4-1 | 2
41 Wi # o (F4R) 0-2 2-1 0-2 *okk 2-0 2-0 3-2 | 3
50 W B4 MTORR|[ 02 2-0 0-2 0-2 sotok 1-2 12| 5
6| B &Kk (P94 1-2 2-0 0-2 0-2 2-1 Kok 2-1 | 4
C 73—k 12,17 22—k
4 i F—24 | GHE ME | TH O (W W0 R 58 | RE Aov| B BE stolok R | AR
1| BtigE & G0d) ok 1-2 2-0 2-0 2-0 2-0 4-1 ] 1
2| FE &L xeqrTO)|  2-1 stk 2-1 1-2 2-0 2-0 4-1 | 2
3| WA PUsE K27 7)| 0-2 1-2 *okk 0-2 2-0 2-0 2-3 | 4
40 =& 9 0-2 2-1 2-0 Kok 2-0 2-0 4-1 | 3
51 M »ob  (KTC) 0-2 0-2 0-2 0-2 *okk 0-2 05| 6
6| W& ME (P4 0-2 0-2 0-2 0-2 2-0 kK -4 | 5

M1~3NLIL, b



SREE BALNEAAS— T U HERKS

G433 H 190
S [ T BAR B A
| pEmrc@m—) et HF =V (A ) T U TOEEA
1~2ph 7 —"7 1~24r CERIR, HLSL) 8 1—h
] F—24 | BE K| R | = B e B BRI IS,
] Al me omx M) oo | TEVITL 2-0 3-0 1
A 2-0
2 fﬁ kA ZE EI#-(%wiE@'%@U_y Kook 1-2 2-0 1-2 3
207 0-2
3 BL = i (F94m) 0-2 2-1 x| VBT 2-1 2
17 2-0
4| Blawm miw mrsr)| o 02 | TETL 0-3 4
20L 0-2
I~ N—T 1~ 347 (i) 9 2—F
4w F—24 | EREH | LB B TE L[ ESN =l B JEAT
| Al EmEw  KTO wer | BV o 2-0 3-0 1
3L 2-0
ol Alem  #m e | TET e 0-2 1-2 0-3 4
44T 0-2
3| B lFm 3t cerrto)| 02 2-0 e | TRV o 2
3L 2-1
i Bles =5 o—2m| o2 o1 |TEI=Z -9 5
44T 1-2
5~THL T N—TF 1~207 CHLSH) 10~11 ==—Fh
4w F—24 |+ whum| s M ek [ R B[ RER | EE) MEA| BB JIEAT
A (et 57 TEI—7| TE—7| B B B
Dl g [ T8 BB 5005 sk 00 0-2 2-0 2-0 3-1 2
2 6% W OB B (MeTOZRE) %@0?2_ 71 s |[TEITZL 0-2 1-2 0-4 5
d | B lem o 2-0 2-0 o | TEIZ|TEI=7 1
5L 2-0 2-0
50 Bl x  ®ro) 0-2 2-0 TEI=7| e [ TRV o 3
6/%. 0-2 2-0
B | (iR 57 T —7 | i) —
gy o . _ _ B
6| o |7 oy MEAN OIS 0-2 2-1 09 00 otk 1-3 4

XFT*A*+@Y%%) TR W%

_______________________________________________________________________



SREE BANEAAS— T HERKS

SF44E3 A 198
S ] 117 AR B A
|| NS T A (Y — ) beriacrrar—nenr KT =D (a—P) Tk TOERA
1~ N—T I~2fir CECIR . HLah) 13~14 =—h
4w F—L4 | A (B OESE| IR ESE| BB | MF| TH 20| B JIEASE.
1 1% g ate eronm| s |[TEIEZ 0o 0-2 0-2 1-2 1-4 5
A sl = ~ %i%U*—ﬁ _ _ _ _ —_
2 | g | OB R o) | TR sk 0-2 02 | o2 2-0 1-4 6
3 1]% W %% Geqnro| 270 2-0 sk %1%?1“7 0-2 2-0 4-1 2
AL G0 2-0 20 | TEIET o 0-2 2-1 3-2 3
5| g | WE @op) | 20 2-0 2-0 2-0 o | TEIZ ) 1
6|y | T ® D qrTO)| 201 2-1 0-2 2 [TEI7 3-2 4
A~20L, 3~4NL, 5~BALE R
I~ N—T 1~2f7 CHLh) 15~16 22—k
E | T2 [HTE B (MmO (Al Fi | mE R | 0 S| RE R B JNE 7
N o Ty —7 _ _ _ _ _
U g IE EE (F—LR) | ek 09 2-0 0-2 0-2 0-2 1-4 6
A N i %%U"—ﬁ _ _ _ _ —
2| g [ A o sk 0-2 02 | o2 0-2 1-4 5
3 3% POl #T (PR 0-2 2-0 sk %1%?1“7 0-2 2-0 3-2 2
4 ji woE R (M) 2-0 2-0 %1%?2“ 71 0-2 o-1 3-2 3
C = = _ _ _ _ Ty —7 _
5| g |0 EE () 2-0 2-0 2-0 2-0 sk [0 5-0 1
6 4% M W kBT 20 2-0 0-2 12 | TR 2-3 4
M2~ 3N, 5~ 6N L4
5~6(L — 1~2f7 CHLh) 12,17 23—}
4w F—L4 | I BEE swolok TH B4 (AR EE(FE BE(ER 200 B JIEASE.
1 5% B W xetnto) e [TEITTL g 0-2 0-2 2-0 1-3 4
B = . Fot _ _ %%U'—a _ _ _
3 s | W B4 GrTORD)| 20 . o2 |7 2-0 2-0 3-1 2
s | Bk mE  Kro 2-0 ook | TEV=T1 2-0 2-0 4-0 1
A 2-0
C EIS ] _ _ _ %@U"ﬁ _
5 5{3‘. ETE[ = P:Ba E (Pq*l;-l.) 2-0 Fekok 0-2 0-2 Fokok 2-0 272 3
C _ _ _ T —7 _
6 ol EH #ob (KTC) 0-2 sokok 0-2 0-2 0-2 sokok 0-4 5

KA — =PRI —I R Rz 5



